#HRBILEAEERILSR

FIESHEHN (BT TH=FBMIARER)
EANBASEERHES

(B) ¥M31F4H18 (B) H#2463H318

(BT : F9)
BERNE WEERTRE(A) BULERERE(B) 1EH(A)-(B)
BRI 153, 565, 268 157, 882, 531 -4, 317, 263
Y ‘fé@ﬁ@ﬁ%mﬁwﬁ 20, 000 20,000 0
lt" Y-EXEENNZRET (1) 153, 585, 268 157,902, 531 -4, 317, 263
2 NS 134, 344,706 134, 591, 055 -246, 349
55 ESE S 11,593,015 12, 065, 637 -472, 622
|y |BHE 22,523,048 11, 422, 959 11,100, 089
B\ B |0 6,099, 405 5. 544, 592 554, 813
"’g EEHE S SR S IR ~1,639,010 1,709, 009 69, 999
= H-EESERET (2) 172,921, 164 161,915, 234 11, 005, 930
PEUEBERERE (3) = (1) - (2) -19, 335, 896 4,012,703 -15,323,193
B [=mnammusis 15,988 16, 421 -433
A ‘; ZOMOY - REBIMNES 1,570, 895 1,297, 399 273, 496
g J-CXEBIMNGSET (4) 1,586, 883 1,313,820 273,063
o | B [D—ExEBIMEREL (5) 0 0 0
1| A
| Y-EREBSMERER (6) = (4) — (5) 1,586, 883 1,313,820 273,063
REEEEE (7) = (3) + (6) ~17,749,013 -2, 698, 883 ~15,050, 130
s | W [EOROTRIRES 3,201, 000 3,201, 000
5 | 3 [BRIRESE (8) 3,201, 000 0 3,201, 000
| |EEEE A LSE 8 1 7
i | 2 | e e R S I (1320%5) -5 -5
ffﬂ SRR (9) 3 1 2
" emEEE (10) = (8) - (9) 3,200, 997 A 3,200, 998
UEREEMEHALE (11) = (7) + (10) ~14,548,016 -2, 698, 884 -11, 849,132
[ E R ERE (12) 12, 065, 341 11,664, 225 1,301, 116
= | SERRMEBIERAER (13) = (11) + (12) 1,582, 675 8. 965, 341 70, 548, 016
o [ExammE (14) 0 0 0
5 [eofbomTRE#HE (15) 11,000, 000 4,000, 000 7,000, 000
o |2 SHEIEE (1 6) 0 0 0
o | R EIERER (17) = (13) + (14) + (15) - (16) 9,417,325 12, 965, 341 3,548, 016




